AFCAT Vii

Instrucfions for candidates TIME ALLOTTED: 2 Hrs
1. Total No. of Questions-100. Each Question is of three marks.

2. One mark will be deducted for every wrong answer.

3. Do not write or mark on the Question Paper.

4. Question Paper to be returned before leaving the Exam Hall.

Read the foliowing passage carefully and answer the guestions given below:

We shall go on to the end, we shall fight in France, we shall fight on the seas and
oceans, we shall fight with the growing confidence and strength in the air, we shall defend our
island whatever the cost may be, we shall fight on the beaches, we shall fight on the landing
grounds, we shall fight in the fields and in the streets, we shall fight in the hilis. We shall never
surrender, and even if this island or a large part of it were subjugated and starving, then our

empire beyond the seas would carry on the struggle, until the New World steps forth to the
rescue and the liberation of the Old.

Q1. On the basis of the passage which of the following statements may be said to be
correct?

(a) The speaker is encouraging his men for the conquest of France

(b) The speaker is an aggressive and maniacal war-monger

(c) The speaker is not satisfied with the conquest of the island

(d) The speaker is a patriot urging the defence of his motherland

Q2. The speaker in the passage wants to go on fighting because:-
(a) He is a raving lunatic '
(b) He is in a state of utter despair
(c) He expects help from other quarters
(d) He is the leader of a suicide squad

Q3. Which of the fcllowing pair of the phrases helps best to bring out the intention of the
speaker?

(a) "Go onto the end”," shall never surrender”

(b) “Growing confidence”, “subjugated and starving”

(c) “Subjugated and starving”, "fighting on the landing ground”

(d) “Fighting in the streets”, “subjugated and starving”

Q4. The passage consists of repetitive patterns in syntax and vocabulary. The effect of this
style is that it -

(a) Reveals the speaker's defects in giving a speech

(b) Produces the impression of bad poetry

(c) Conveys the speaker's helpless situation

(d) Reinforces the speaker’s basic intention

Q5. The tone of the speaker is:-
(a) Pleading and urging
(b) Inspiring and encouraging
(c) Discouraging and gloomy
(d) Menacing and bullying

in each of the following, choose the word most similar in meaning to the word given in
capitals.

Q6. “"MEDDLE _
(a) Disregard (b) Overlook (c) Interfere (d) Free

Continued 2....
S/84 DPH/12-



[A]

Q7. “ABJURE"

(@) Renounce (b) Ffu"'ﬁ_':dﬁ':_.:ée'bréﬂy" (¢} Abide o (d) Dssouss
Q8. "ESTRANGE" o
(@) Endanger (b} To bpcome puzzimg (c) Miscalculate (d) Alienate

in each of the fﬂ!iﬁwmq, c‘hobse %he wcrcﬁ st neari\; spposite in meaning o the word
given in capitals. GRS A : R R

Qo ‘DERobATr")RY""""’ o

(a) Conferrmcf NG lmmadaatnj--”_'-__';_' (e} Praising {d)- Private
Q0. CWANE' o SRR
(a) Wlden (b) Poor (¢} Swal} {d) Tight
In each of the following auestions, find out which part has an error
Q11 The police na< {a)/arrestad the ?rnﬂ{ (u)iwhg broke inftoc my houss {CMiast might, {d) ~

Q12. The man'who (a)/ t“m/ ‘fhough’f t be (b) geﬁﬂeman tumea out (¢)f o be 2 rougue, {d)

Q13. 1 told him on his face (a )/‘ihat he coqlcé mf “‘IOJQ (b)/ to pass the strmgent (c)/Miedical
examination of the S»ﬂz‘v;ﬂes Qefeotton erd fd} R

Q14. Mohan is one of those ooys (2)/ who h.:iS exoreasnd (b) ‘,;ii!'!in'g'hess for joining (c)f the
educational tour. (d) v
Q18 | may spend {&)/ this summer vacations (b)with one of my friends{c) in the back waters
of Kerala. (d)

Pick up the most effective word from the given waords to £i

I in the blanks o make the
senfence meaninofully comnplate.

Q16. Ac cording to the weather itis gainc; to be cloudy today.

{a) Announcement (b} indication (c} Prediction (d) Forecast
Q17 The villagers the murder of their ieader by burning the police van.
(@) Protested (b) Aw—*ngud (¢} Mourned {d) Consoled
Q18 While on a routine ﬂlgnt the aircraft was hit by a missile and _Into flames.
(@) Fired {b) Burst {c) Caught (d)' Engulfed
Q19. Hari got the company car for price as hie was the senior most employes in the
company.
{a) Reduced (b Discounted (¢) Fixad {d) Nominzl
Q20. The unruly behavior of the soldiere __ their commandsr.
(a} Cilashed (k) Aggnr—\vmq (' ; Incensad (d) impeacned
Q21 Who accorded the titls Mahatme' to MK Gandhi? _
(@) Sardar Pats! () Neheu (c} Sarojini Naidw (@) Rabindranath Tagors
Q22 The Nor Co- -operation Movement started in which year?
{(a) 1900 (b} 1821 (c) 1940 {dy 1935
Q23 During the Middie Ages education was confined Only tor-
{a8) Kshatiiyas (b) Brahmins (c) Peasanis {d) Shudras

Q24. Who among the following was responsible for the spread of Buddhism in Sri Lanka?

(a) Ashoka (b) Mahavira {C) Parsavanth {d} Chandrs Gunta Maurys
Q25. The elements which have tow value of ionizatior potential are strong:-

(2) Oxidising agents (b} Reducing agents

(¢} Oxidising and Feaucing agents depending upon the reactants (G} none of these
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G268, Wayns Roorteg;f" the famous Tooiballer, hails from which country?

(&) Haiy o (b) Brazil {c) Argenting (cl) England
G277, The official song tl\fat\aWaka of FIFA World Gup held in the vear 2010 at South Africa
was sung by which nopu.ar singer?

(a} Madonna - {b) Destiny Child (c) Shakira ( y Rehanna
(.28 inthe vear 2011, the ace badmintor: player Saina Nehwai was honoured with which
sports award”?

(& Dronacharya award {(b) Rajiv Gandhi Khei Ratna award

{c) Arjun award (d} None of these
329 Term ‘Visible Horizon' in astronomy is defined as:-

(a) The circle of contact of the earth and the cone of visual rays paasmg through the
meridian of the place.

(b) The circle of contact of the earth and the cone of v1suat rays not passmg through the
meridian of the place.

() The circle of contact O'f thﬂ earth and t‘te cone ot vrsual rays passmg through the
~ point of observation: " 0

(d) The circie of contact of the earth a“td the cone of \n;ua! ray" not pasmng through the
point of observation.

€130, NREGA stands for:-
(2} National Revenue Engagement Guarantee Association
(b} National Revenue Employment Guarantee Act.
() National Rural Employment Guarantee ‘Association
(d) Nauonal Rurat Emplovment Guarantee Act
@31, Kiver aattu; onglnates from:-
(&) Northern slopes of the Kailash range  (b) Spring at Verinarg

{c) Rakas ! ake S (¢) Amarkantak plateau
32, Limonitic ore is the ore of which metal ? ) AT
{a) fron (b) Aluminium (¢) Zinc (d) Cobalt

Q33. Black revolution relates to which of the following?
o {a) Sel-dependence in foodgralr‘s Droductlon (b): Self-dependence in milk production
(c} Sel- dmpendﬁnce m petrdieum! crude 01t A{dy None of these-
134, -Karrar is the: unmanned pomber aircraft of:--
wo(aydrago o (b) tran o o) Turkey (d) Pakistan
Q3a. "Whn is the authm of book Keepmg the- Faith: Memoirs of a Parliamentarian?”
B "(a) Da\nd Omand  (b) Raja Shehadeh {c) Raghav Bahi (d )Somnath Chatterjee

a36. | is a thyroid t'ormone WhtCh controls the balance of ca!mum in the body
Y © (a) Calgitonin - (b) Thyrox.ne ' (c) Catmoduttn (d) all of these

Q37 The cell wall in plants is. mterrupted by narrow pores carrymg flne strands of cytoplasm
whlch infertink the contents of the cells. These strands are called:~

“{a) Plasmahoie () [\mcrowth (c) Ptasmodesmata (d) F’tasmaiemma

Q38 Who is the cricketer bestowed W|th an honorary cormmission in the Territorial Army?
(@) Sachin Tendulkar (b) Kapil Dev - (c) Virendra Sehwag (d) t—tarbha]an Singh

039, The transpori phenomenon occurs only in state of & gas and is
(a) Non-squilibrium, irreversible ~ 7 (b) Non-equilibrium, reversible
(¢} equilibrium, ireversible (d) équit_ibrium, reversible
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Q40. Which of the following compounds form nitrites with nitrous acid?

(@) Primary amines - S (b) Secondary amines
{c) Tertiary amines Ve _ (d) All of these

Q41. The number whose square is equal to the difference of the squares of 37and 23 is:-
(a) 45.00 (b)) 2898 (c) 47.09" (d) 28

Q42. The average age _Of' 8_'mé'n‘_i's increased by 4 years when one of them whose age is 30
years is replaced by a new man. What is the age of new man?

Coo ey S-SIYé-arS:'-. .. (b 62 Years o {c) 42 Years (d} 69 Years
Q43 A vessel, full of water, weighs 24 Kg. Wher the vessel is 1/4 fult, it weighs 9 kg. Find the
weight of empty vessel. SR

(a) 4 Kg CB5Ks () 8k ) 3 kg
Q44. Ifa-b =4 and ab = 45 find the valye of a’-b®

(a) 604 (b) 370 (c) 253 () 199
Q45.  If al(a+b)=15/21. what is (a+b)/(a-b) equal to7? - :

(8)13/9 coooo (b)Y 23111 R {c) 1445 S (dy 219
Q4. (798+579)°(798-579)° =2 Sl

@2 e g (dy 8

Q47. A man's average monthly ékpeh&itufé_ forthe first four months of the year was 2 231.25.
For the next five months, the average monthly expenditure was ¥ 22 7% more than what it
was during the first four months. If the person spent T 605 in all during the remaining three
months of the year, find what percentage of his annual income of ¥ 3500 did he save in the
year? _ : o

(a) 10% (b) 15% o {C) 20% {d) 25%

Q48. The average age of students of a class’is 15.8 years. The average age of boys in the

class is 16.4 years and that of the girls is 15 4 years. The ratio of the number of boys to the
number of girls in the class is-- o S

@ 12 by 23 (c) 3:4 L d) 35
- Q49 18 buckets of water fill a tank when the capacity of each bucket is 8 iitres. How many
buckets will be needed to fill the same tank, if the capacity of the bucket is 12 Itres?

{(a) 12 (b) 135 T

(c) 24 (d) can not be determined due to insuiticient data
Q50.  Srinivasan invests two €qual armounts in two banks giving 8% and 12% rate of interest
respectively. At the end of year the interest earned is Rg 1500. Find the sum invested in each.

(@) T 8500 (b} T 15000 {c) 7500 (d) T 17.000
Q51. The simple interest accrued on a sum of money at the end of four years 1s 1/5" of its
principal. What is the rate of interest per annum?

(a) 4% (b} 5% (c) 6% {d} inadequate data
Q52. A sum of T 2600 is lent cut into two paris, one at 9% and another at 7% |If the total
annual income is T 208, find the money lent at 7%,

(a) T 1400 {b} T 800 (c) T 1600 (dr 31200
Q53.  Inan election between two candidates, 70% of the voters Cast their votes, out of which
2% of the votes were declared invalid. A candidate got 7203 votes which was 80% of the total

valid votes. Find the total number of voters enrolled in that election
{a) 18050 (b) 17500 {c) 17000 Ay TZoE
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Q54. If the price of kerosene be raised by 11%, find by how much percent a house holder
must reduce his consumption of kerosene so as not to increase his expenditure?
(a) 11% (b} 9.9% {c) 11.09% (d) 8.25%
Q55. 75 pupils from a school appeared for an examination and 80% of them passed. Another

school entered 10 more pupils than the first school and five pupils less than the first school
passed. The pass % of in the second school was:-

(a) 75% (b) 84% (c} 72% (d) 64.7%
(56. Divide T 80 in the proportion of 3:6.7.

(2) T10,% 35,7 40
(c) 15, 35,730

Q57.  Calculate the amount on % 1875 for 2 years at 4% per annum, C_ofnpdun’ded yearly, o

o (@).X676. o (D) RTTE. o (0 RATTB L (d) ¥ 2028

(b) T15,%30,% 35
(d) T10,%40.2 35

QSB Ifxvaries as y and x = 8 when ¥ = 15 then the value of x when y=10is'=

e) BM5 T (d) 1603

Q59. In a mixture of 60 litres, the ratio of milk and water is 2:1. What amount of water must be
added to make the ratio of milk and water as 1:2 ?

(a) 42 Litres (b) 56 Litres (c) 60 Litres (d) 77 Litres
Q60. A sum of T 10,000 is lent partly at 6% and the remaining at 10% p.a. if the yearly interest
on the average is 9.2 %, the money lent at 10% is:-

{a) T 8000 (b) ¥ 8500 {c) ¥ 5000 {d) ¥ 2000
Direction:- Choose the word which is least like the other words in the group
Q61. (a) Garo - {b) Khasi {c) Kangra {d) Jayantia
Q62. (a) Virgo (b) Pisces {c) Cancer {d) Orion
Q63. (a) Shoulder -~ (b) Foot {c} Finger (d) Elbow
Q64. {(a) Canoe ~ (b) Dingy (¢} Yatch (d) lgloo
Q65. (a) Inn - {b) Ciub (c) Motel (d) Hostel

Directions:- The following questions consist of two words that have a certain

relationship to each other, followed by four aliernatives. Seiect the best alternative that

has the same relationship as the original pair of words

Q66. Liguor : Drink

(a) Bread : Butter

{c) Sniff : Inhale
Q67. Evaporation : Cloud

(a) Mountain : Snow

- {c) Pressure : Atmosphere

Q68. Barre! : Vial

(@) Book : Pamphiet

(c} Brochure : Complier
Q68. Cream : Cosmetics

(a) Tiger . Forest

(c) Magazine : Editor
Q70. Carnivore : Herbivore

(a} Flesh : Plant

{c) Camel . Giraffe

(b) Tea : Beverage
{d) Water . Sip

(b) Book . Pages
{(d) Tension . Breakdown

{b) Book : Reader
{d) Length . Height

(b) Mountain : Vailey
(d) Teak : Wood

(b) Horse : Lion
(d} Animal : Bird

Direction : Three words in bold letters are given in_each qguestion, which have

something in common among themselves. Out of the four given alternatives. choose the

most appropriate description about these three words.

Q71. Hamilet : Macbeth @ Fausius

(@) They were Princes.

(p) They are plays by Shakespear.

(c) They are characters from various dramas. {(d) They were romantic heroes.
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Q73

Q74

Q7e.

Q80.

Rirectiion:

(&) They a

Miimanj;‘ru
{z} These are siles of volcanoea
{cy These are hiile of !iaiy

Vesuvius Eméi'

Knot : Watt : Fathom -
(d) lhc: terms are used by sailors.

(€} The tarme are connnct:;d with rope.

S&um Digboi Ankleshwar

re farmnous for oil fields -

(by Thess are island countries,
(d) These lie in polar region

(b) The terms are used for installing eie
(d) They are unite of measuremeant,

clricity.

{b) They are famous religious places.

{c) They are tourist pEa 8s of South india. (d) They are famous for handiooms.

nghf ; ﬁoa%{ Bishep
(a) These are missionaries,
(c) These are chessmen.

Abhi Bhatiacharya :
(@) They are character actors.

(¢} They are famous poets and writers.
"Joodon : Sorcery @ Necromancy

{b) These are churchmen.
{d} These are ranks of military.

Utpal Dutt : Satyajit Ray

(b) They are directors of Bengali movies
(d) These personalities belong to Bengal.

(a) Tney are ancient arts found in scuiptums

(¢) They are ancient scripts. -

_{b): They are terms connected Wl_t‘? biack maglc |

{ch) They are mezns. of commumcgtlon of pre hiStOI’Iu age .

F{wa’heEa Bokaro : Durgapur =~
{(a) They Y are steel plants.
(c). The y ha\re atomic power plants.

Spma h Fenuqreek Celory

{a] fhes‘=a are cactus plants.
(c, ] heqe are wild flowers.

Yeats Gh”a'hb ‘Kabir -
(a) They were sccial reformers
(c) They were sam’ts '

(b They were famous Doets
T (d) They were yoga mstructors -

There are two sets of flgm‘es nameiy the Problem fsgure con

' (b) Th'ey have coal mines._ :

* (d) They are'on the sea coast.

(b) These are wild plants. ~ .+
(d) These are leafy vegetables. - . -

mg five

figures 1, 2, 3, 4, 5§ and answer flgures {a), (b}, (c), {d). You have to seiect one. figure from
_ thﬂ Amwer fagm’es whach wsﬂi commuo thﬂ same series as gsven ln the Pro iem_ f.gvre%

Q81

Qe3.

Q8. T

< v o= > A [< v o v A
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{2} 2} {3y 14} (53
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R L {5} izl {b} {c) {d}

(43
Direction :  The miiowmg situafions involve a cluster of thres or more geomeirical
figures, having ong or more dols placed at any peint inside the cluster. This ciuster iz
foliowed by & set of four alternative figures each composed of a clusier of the sams type
ot figures. Now, for each dot we have to ohserve the remon in whzf*h itis mc’!@secﬁ &, in
which of the geometrical figure this regmn is commen._ 5

From amongst the figures marked {2}, (b), {c} and {d); se esf? t.hn fsgwa whm&“* saiasf&% ind
same co ams.wns s::zi piacmmert f)f the dat as in %’ig {K} :

08e. ) ‘E\ <
Lt ! E i)
LV s _)
(g
< {d)
e AN e A P "
~ag. NV ANy P o U AR
Sl et - l\_ﬂ_,x P AT
) L ey ) N (5 ia
= L] '\'\/ S i e =
i) N {a%_” E (c} i)
‘ ; LI »](
LBU. B8 NTR . G, o
éﬁ"é‘df * i ~»-’«J; S .—5%"&‘ AV \ﬁf:}i
) al () fc} (d

Direction:  In this portion, & ngdfp is given as an originat figure (X foliowed by four
answer ﬁgasfes The original figure is embedded or hidden in one of the answer fzfsuf@%

{2, b, ¢ & d). Seiect the alternative that carries the correct figure which clearly shows the
embadded portion of the eriginal figure.

Q97

A | . \
o E SN N

{5}
. ) ﬁ:'/_/:; '
aT P
" %
{X}
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aos, | X
(X}
qes. [ l\/i

Dlrectlon In each of the followmg questlons, a part of the figure is -rmssmg Find out
from the given options {a), (b), (c) or (d), the right flgure to fit in the missing figure (X).

Q6. 1 7

-

P
s

=2

M @ e

Qo7.

S @ m @ (d)

Qos. = 7

R 5 B (d)

Qes.

= oo L o le L, O
o0 e {b} e} (d)

Q100.

(X}
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